
Q = -e = -1.609  10-19 Coulombs

Q = +e = 1.609  10-19 Coulombs

Q = 0



Opposites 

attract,

like repel.







Charging by Rubbing

Simulation 1

Simulation 2

http://phet.colorado.edu/new/simulations/sims.php?sim=Balloons_and_Static_Electricity
http://phet.colorado.edu/en/simulation/travoltage


Polarization of 

atoms









Charging by Induction



Coulomb’s Law

𝐹 =
𝑘𝑞1𝑞2
𝑟2

Direction of force, goes in by hand.

k = 8.99  109 N-m2/C2

Simulation

q1 q2

r

http://phet.colorado.edu/en/simulation/electric-hockey

